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Q1: line should begin where 0 cm is written not where 15 c¢m is written
Q2: line should begin where 0 cm is written not the end of the ruler
Q3: line should begin where 0 cm is written not where 1 cm is written
Q4: the ruler is measuring millimetres, not centimetres

Q5: line should begin where 0 cm is written not where 15 cm is written
Q6: line should begin where 0 cm is written not the end of the ruler
QT7: line should begin where 0 cm is written not where 1 cm is written

Q8: the ruler is measuring millimetres, not centimetres
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